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2 —Tx+6 = 2(=2° -7(2)+6
=2x4 + 14 +6
=28# 0
e K 2 Tx 4 6 ehlex =2 LU
K end LSt 3 kimsiefif b —14x =5 = 0 wbleox = 516
E

eboGrdpex =] Lduia | bdifebiogt k- 14x-5=0 :(f
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25k-70-5= 0
25k-[1= 0
25k = []

k = Q = 3
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gl a
_eE BB e AUl 2
()X +5x-2=0 (2)y* =5y - 10 (3)y2+%:2
Hx+1=2 (5)(m+2)(m=-5)=0 (6)m’+3m’ -2=3m’
_“é(}l’”&gd/cu'b:aéé:ug/:-ﬁguﬁcuﬂd/ ax’+bx +c=0 ufl:L«‘J";’G/} 3
(1) 2y =10 - y? (2)(x-1)?=2x+3 (3)x*+5x =-(3-x)
(4)3m*= 2m*-9 (5)p(3+6p)=-5 (6) x*-9=13
_EE el uiselead SE I oS L UG 4
()X +4x-5=0,x=1, -1 (2)2m*-sm =0, m=2, 3

_“ér)“”&gd/k?nx = 3508 kb 10x+3 = 0 ebo@rSl 5
VIS5l Lo Sebed § ki = e lI6 5o+ 2m v k = 0 =@ S 6

-éﬂ(?
< e LIE Sm+2m+ k=0 =bled,  (f
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Csx [ Pwaex[ J+k =0
[ ]+ J+k =0
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k=]
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COF G L g & - =5 il —5m d-25 oG AU A
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= x’-5x+1x-5 = ... ... = -5
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C(Solution of a quadratic equation by factorisation) l?/?)“"ﬁgc’_— & HPL G Yoy 4 D

cnj,w_%L“mt,//;;ﬁ,&Kui‘éi_}wﬂug%/ﬂ‘u/jgJu,udf//LﬁJ@J/é"g_ﬂ
LIS L Sphre 3 AL e 210kl Bt U
Fodx-5=(x-5 (x+1
Grut —dx -5 LUy (c+ Dol (x— 5)(}/)7.‘%)5 - dx -5 G AUl
-ujimq:}flb‘égf“}@u/ XX —dx—5=0 é’}Vdf/LbLnJilaaﬁj/?(
-5 x+1)=0
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~x—-5=0 L
Tx =95

x+1=20
L x = -1
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()m*-14m+13=0
(3)3y* =15y
(2)3x*-x-10=0
3x*P-6x +5x -10 =0
T3AxX(Xx-2)45(x-2)=0
Bx+5)(x-2)=0

(4)x*=3

3x+5=0L x-2=0
-3 _
X = 3gx—2
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‘éwé%/LQ/L’Z’QI)VJ{/JJ;’ Jt’»

(2)3x*-x-10=0

(5) 63x*+ 7x = 3

(Dm? - 14m + 13 = 0 S

~m'-13m - 1m + 13 =0

m(m-13) -1 (m - 13) =0

(m-13) (m-1)=0

om—-13=0 | m-1=20
m=13 L m =1
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4 x'=3 (3) 3P=15y
xX*-3=0 . 3)'-15y=0
x'-({3)" =0 3y (y-5)=0
L) (- 3) =0 Vo0 yes =0
SX+3=0 L x-43=0 y = L y =35
x=-v3 | x=43 ~UE S5 0 kel el rd
~Ut V3l -3 /jgiabl/df/éngj;“iu’l

(5) 63x2+7x=183

63x2+ 7x -+3=0
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2x=-B L 3Bx=1
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. X=—7 v X=3\/§

6~/3 x (-+/3)=-18

-18
9 -2
9=33x%x.3
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-J T ol - = < o
e Nk ; /A?L }L/dj/

2200 %

S S B IL 2B S o

(1)Xx*-15x+54=0 (2)x*+ x-20=0

(4) Sm>=22m + 15 ;

(5)2x*-2x+ 5 =0

(3) 2" +27y+13=0

2

(6)6)(7—; =1
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" I (x+2)=0
Lx=[_ ] L x=-\2

-t =2 sl Lo e lsla$ly

(813 2J6 x+2=0  (9)2m (m - 24) = 50

(10) 25m* =9 (11) 7Tm* = 21m (12)m*-11=0
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(Solution of a quadratic equation by completing the square)

el e X+ 10X +2=0 @ 50
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(S S Tenl st
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LGS e IEGE S B S oo ts Bt X+ 10X
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k=a* 510 =2a 5 Joow6un LU
L a=5, . k=a*=(5)%=25
o, X’ +10Xx+2=(X+5)>-25+2 =(x+5)"-23
CGESS T X+ 10X +2=0 by
LS fe il Je os Sl S e S 0P e LA L abla B 1o

—X

-
(x+5)-(J23)’=0
Sox+ES+ 23)x+5-023)=0
X+5+ /23=0 L x+5-/23=0
xX=-5-J23 | X=-5+23

p3papapapapapapapadppaPpapa 37 AL EGEEEEEEEGEEC



TRA e bkl T fp oz
(x+5)7-(J23)'=0
(x +5)" =({23)
X+5=/23 L o x+5=-23
X=-5+23 | xX=-5-23
0.0, At/ f BSBS
sxl-4x-3=0 &S M)Je
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(4)9*-12y+2=0
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((Formula for solving a quadratic equation) &> K. Sl /)

el i by Sep(rar 0l e af af v bx e
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b - b
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. b b* —4ac ] N b b* —4dac
* 2a 4a’ - g 2a = 4a’
b b* —4ac b b* —4dac
X 2a 44* - X == 2a 44°
—b+~b* —4dac —b—~b*—4ac
X = l X =
2a - 2a
b+b* —4dac

@ st = ————= P
_Q*L/'/ b D307 () B sl (WD) o o

—b++b* —4dac —b—~b*—4dac
o = > , B = R (1)

+b* —4dac
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O d/ 2a
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g ES s b Loy
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14412 | )
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X =
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2x1
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cAd e JES L L S e G X - 2X =320

x2=2x+3[j’3x2—2x-3=0
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X+x+5=0

Ex2+x+5=0bhls

gl Jilve ax’ + bx +¢=0
a=1,b=1,c=5

(5)Je
S

wb’-4ac = (1)*-4%x 1% 5
=1-20
-19

_ —bt Jb* —4ac
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X
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a=25 b=30,c=9
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—b++b* —4ac
X =
2a
_ -30+40
2x25
=-30+0 -30-0
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X=-3 L ox -3
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N
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(HX*-7x+5=0 (2) 2m* =5

(HXx*+6x+5=0
(4)5sm*-4m-2=0
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1
(5)y'+ 3y =

m->5 (3)y* =7y
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abiwénd}wﬁ/g)ﬁ/;ngjufi3£/db&lKa.u,/ ¥ +2Bx +3=0 c:«bl/d.// 3
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JoEL| lebe@r| | b -dac] | X H2BX+3=02blr| o f

(i s S || g 3| | @ DX #C=0 2k
d ) =Y = ’ (’J‘”Uf”jd/ a b c LS ive

A _g%u =
_AEET
((Nature of roots of quadratic equation) :«:‘]d/ u»lgé ST - /)
2
. —b+b —4dac
(LS S L x = TN L v 4 by 4= 0Bl
—b+f
cX= Jw b - dac =0 S (1)
-b -b —b 0 -b+0
= — = — y = = ’
* 2a box 2a ‘ﬁ . 2a bx 2a ”iu/
-wLnd)V/ﬁ'&%bia'5Vdf/
X = ‘b”;’ —HC S b - 4ac >0 ) (2)

~b—~Ib* —4ac | ~b++/b* —4ac U}}
= 2a A x = 2a -

-UZL}'ZJJL//:%A'&??/,%L c«b\/d{/

s . Y —b+~b> —4ac P
i L e olr B U (- L oLl 3 X = > “ jw b= dac <0 S (3)

-ujLnuﬁ}
b* - 4ac {,Jl%gn/;@a;agd/bz— 4ac:«.’id/uujg£ax2 + bx + ¢ = 0l ,
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Q0. e/ BSY
_g{(k”o»fd/);fut X+ 10X - 7 = 0 =bl@, (1)JE
(e ad + bx e = 028 X+ 10X - T = 0 bl S

a=1,b=10, c=-7
~bP-4ac=10"-4x%x1x(-7)

= 100 +
= 128

28

_“édfma{f)}d/u”kc);féu;bv‘iLyjﬂ (Z)Jﬁ"‘

() x*+2x-9=0
I E X+ 2X -9 =0 sl

c4z°_/4~_ax2+bx +c=0

a=[_J,b=2¢=[]

S

b-dac= 2 -4ax| x|

A= 4+ [
= 40
~b*-4ac>0

_uzd}l//:;/}’(}f??/lgi c«bl/(ﬁ/,,iu/'

(iii) VB3X2+2HBx+ 3 =0

1) 2x*-5x+7=0
P 2XE - 5x + 7 =0 sl 104

i Se a+bx+c=0
a=2,b=-5,c=1

“bP-4ac= (-5)*-4%x2x%x 7

A =25 - 56
= -31
~b'-4ac<0
U E el el d

gl al +bx +0=0 KB H2BX+ B =0en o f
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0
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(Relation between the roots and coefficients of a quadratic equation)
e U Pl o el OXT + bx +c=0 :«M/d{//ﬁ
LA
b dae  boPdac o dac |, b dae
oaxf = > X P o+ = > + >
(—b+\/b2 —4ac)><(—b—\/b2 —4ac) _ ~b+~/b*> —4ac —b—~b* —4ac
= 44> 2a
b* —(b* ~4ac) __
= T 2a
dac Soa+P = _2
_ L
T oa
C
af =7
_éﬁqkuj[gi_ﬂ%)uzdj :r(&j
9l OL +B: 4‘-.J_£10x2+10x+1:0_..,1,vdf/

O(’XB =

0.0, A/ f BB

G 0 X By +B Ul 26+ 6 -5 =0 eblo@apala (1)JE

i @l +bx + =028 2+ 6x - 5= 0 hley S
a=2,b=6,c=-5
b 6

G+B:—g:—j:—3

/}’,aXB = %:__5
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_E e d S kI 70/ Uil X - 13x + k=0 2hle, ()
yi e al +bx +c=0 208 X - 13x+ k=0 enleg,
a=1,b=-13,c=k

a > B /)iuZ/,Zgéa’}Vdf/Jﬂdﬁ B sl a ‘S{J/
b _ (13 (D)

a+Pf=-,=-—7 =13
Fa-B=T o (enl) . (D)
20 =20 L GESES A (Deble)
o =10
L 10 +B = 13 o Igd (D]
B = 13- 10
o, B =3
o X3 =§
10 x 3=E
T
k =30

Iuridel X +5x -1=0able@r Buia  (3)JE
_E e dd at B ol + B ()

:42_/c;ax2+bx +c=0 X +5x-1=0=lln S
a=1,b=5, c=-1 Ul
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(XXB: Z:T:—l
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=-125-15 = 25+2
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(

To obtain a quadratic equation having given roots)

—_ B a /lgégl;{,»df/d!,/é:‘ X ‘“éu.‘/'

Lx=a b x=PB

Tx-a=0 L x-B=0

L xX-ox-PBx+af=0

X -(a+Blx +af =0

SBES e Bl S5 Sabslr G e B s o (5
X = (A 6uie)x + PN busie = 0

-ﬁu,udf/duuww 9 PN 6Ussie st 10 o4 €Uside < (1) ,»K&’

-0 x4 =[] ... (= lslap, )
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) ~b++/b* —4ac ’ ~b—~/b* —4ac
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R Ll FEslsie Ul e B A = 01 (3)
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9=7+n-1)x2
9=7+2n-2
99=5+2n
2n =94
n=47
-< 99 cfgub47 sl 81 cfgub 38 gﬁ@&ﬂé_;

1papapapapapapapapapapapapaps SO D I



32008
Bty I s S
1,8, 15,22, ... (1)
a=L_1 t1=|:|, t=L 1 =1 ... o%
t-t=L -1 I=L|
(-1=1-[J=[1, - d=]

3,69, 12, ... (2

3, -8, —13, -18, ... (3)
q=[:], 5=[:], t=L, e=l 1 ... o[
t- t1=|:|, t3—t2=|:| . soa=L1,d=[1
70, 60, 50, 40, ... (4)
e= ] = e ... Ul
a=L1,d=]
-“ér)““‘uguirf} Kﬁ@@l/u’l?‘g/ﬁl-“éicd&ﬁ;ﬁ@(}v;l?wpuﬁdj 2
12, -5, 2, 9, 16, 23, 30, ...
R LU24K T 12, 16, 20, 24, .. wlI3L 3
U 1966 e st 4
7, 13, 19, 25, ...
LTRSS 5
9, 4, -1, -6, ~11
_“ér)”uﬁmimg%(:m; 5 torloll st 6
U A1 el 1T 29U 21 165U 11 66lSGLocfl 7
8
9

e Lubie —151 0% 11,8, 5,2, ... sl .
sk f’i«,mwufcwmtd*id 250 = 10
_éf}”U/J/;’LwL/7;JJ;1O:UCU’;17K&L«JGL>J 10

=pap3pappapapapapapapapIP 66 KAAAAAAAACAAAGC



FereS”

AR bz VL L E G TS e uF e 1 1B L]
-Lw:zcufcu,adm?@f/fdv/ui»u'

LA LB UE 100 22 s & ol ol s 10007 S e £yt
“_Lw,olfuiénﬁfgLu futgﬁﬁm/,lé,nf& 10 “&&“

e Fole RIge Frige e Gl pheiol sl F U F e 1 bl
LTS Feigel st F s I& 7Syt e ftatﬁ;pé,m‘c‘_ st
T s S b b St i ST P 1 sl FaF L
LS F_T S

o 1 2 3 4 5 6 7 8 9 10 | 11 | 12

3

o!}ﬁ}/ﬂ/t’ 100 | 200 | 300 | 400 | 500 | 600 | 700 | 800 | 900

95512 | 10 | 20 | 40 | 80 | 160 | 320 | 640 | 1280|2560

-“ém},«g,:?«l’
LTREF S T 6lI3Lo, .. <400300<200< 1006175 Lt

t=100, =200,1=300,... ; -1=100=d

- 100 3/ Ul
80 — 40 =40 <40 — 20 =20 <20 — 10 = 10 5/« UFelIGLo... 804020 10417 § 12
e bt L Sl Fe NS ST E e S d P U B

20, ty _ 40 _ t, _ 80 _
o 70T RS T Tyt

e led It 25 b 1oe e SSL Sl e L
-“ér)‘“‘c_'-‘at'ﬂ*/.cdﬁa{’;Jﬁ@@&ﬁ@dh@ﬂup

oS KML-J(}L?J/‘(_ufw("_ér)"”d{al:c‘,Dﬂ@/ﬂwu;ﬂ{w~d/ 1 M/’ﬁ’
AT CS I n & it & Tk e LS AT S el L
Ly g S

p3papapapapapapapadpPaPaPa 67 A EEEEECEEGEGEC



B9

(b UL UL 601 ¢t Buttner) i U 57 e L UL ref
-w;,(@&@'«z-wcujsééuﬁ/,’cuﬁfgyfu}grw‘ﬂ_t}ugLuu%}.u,wvg_;'/
AUFU AL LSS KL g S Ut s By 6 I
b UKl ool B Lol (F 100 e 1 dfe i Ui YA Kz s
VS A g s 3PS sK Uk A ST TS L e it e b L Euag
“e ITSE U Sl SN e (S L L SES L L1001 £ L

Cun& ST U6

“CLTE 12 bl Soe S TS S ol

U B iR

YA AL i 2ol

L3 P S UIE)K

: + >+ >+ + +

skl 22211000 99 98 97 e
Z101 101 101 101 ... ... ......... 101
1 Uk -7 10100 55—/ #€ 100% 101 > F 2 100 G 37101 Gl Usel S22z
Gl 1,2, 3, ..., 100 YL T50505-L i€ 10100 L 1-c U Uz raiiel oF 100 =
_S el colo e 5050
Ly Skl S Gl ubin Lald oL S )16 S TGS Ui

- S U668 L P2
18550/ 23- 1777t 4130
:55(i'““/fvguﬁjiruﬁuu_éuuu"pu”zﬂ” SOV
S1-BU B Sl 1 Ut AL sl U kG
LUl GnlUibe u’g’fgcﬁh 2 Bou sz s
e end i S Skl UL Ce UL A Y
. = el ol

2D=p3pappapapapapapapapIpapa 68 KA AAAACAAAGC



AT

*

((Sum of first n terms of an A.P.) (‘f’d/u%l n %Lﬁudp)

a, atd,a+2d,a+3d,...at(n- l)d,wl.ﬁ(}l,?
Ly e 8, Bk n& Seld e d 3)S P e a fotky S elS

S = [a] + [a+d] + ...+ [a+(n-2)d] + [a+(n-1)d]
:4&;4;&7,@%;
S = [a+(n-1)d] + [a+(n-2)d] + ..+ [a+d] + [a]
ST

28 = [a+a+(n-1)d] + [a+d+a+(n-2)d]+ ...+ [a+(n-2)d+ a+ d]+ [a+(n-1)d+a]
28 = [2a+(n-1)d] +[2a+(n-1)d] +...+[2a+(n-1)d] ... =/ n
2S =n [2a+(n-1)d]

L S = na+@d

~ZE R TYUE100&£ L 14, 16, 18, ... QL U
n=100<d=2ca= 14Ul

S = 5 [2a+(n-1)d]

n

S =5 [2a+(n-1)d]

100
S — [2 X% 14+(100-1) x 2]

100

2
50 [28 + 198]

= 50 % 226 = 11300
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- (Tax Invoice Jf’j"jg)

AP A e
SUPPLIER : A to Z SWEET MART GSTIN :27ABCDE1234H1Z5
143, Shivaji Rasta, Mumbai : 400001 Maharashtra
Mob. No. 92636 92111 email : atoz@gmail.com

Invoice No. GST/110 Invoice Date: 31-Jul-2017
S. HSN Name | Rate | Quantity | Taxable CGST SGST Total
No. code of Amount

Product Rate Tax Rate Tax Rs.
1 | 210690 Py ?!élé)o 500',,/ 200.00 | 2.5% | 5.00 | 2.5% | 5.00 |210.00

2 210691 le 3 80 1400 80.00 14% | 11.20| 14% | 11.20 | 102.40

1ek . 9 . 9 . .
3 2105 (’/uf’, 7200 (50()(;/) 200.00 9% 18.00| 9% 18.00 | 236.00

4 | 1905 A %35 1L 35.00 | 0% | 0.00 | 0% | 0.00 | 35.00
1T 500 z 9 9
5 | 210690 #1390 250 e 125.00 | 6% | 7.50 | 6% | 7.50 | 140.00

2y I [41.70 41.70 | 723.40

bkl e s QU BWIZ AT ¢ U

U’JCentral Goods and Services Taxu’) CGST.u*&»L GST.SGST. CGST : s
State Goods & u)) SGST -« (¥ 07u’t Z J:Gd/} up, - u’cul.»ul l/l d/
..gL/C?u’LLJ;GU’L/,_JCVL,WA’V’U’LJU’J Services Tax

S fos- LU’)G(A/ SIS% L d/_;;fui‘;yu*gfu'b/;liu”m‘jc 2

:/“f 7z l:'u%. (GSTIN - GST Identification Number) / (f 26Uz t‘ﬁ‘a GSTIN» b
100 AP PAN —ae Gy e tee S DK 6a1e & 00d1 20 Ut LB
3o (55t 370k N - bresie (e 37 15 U GSTIN st sdZ b S sea bran5in 37
e b e 37 106 PAN £ 261U

> 27TABCDE1234H1 Z 5 e Uikt i T)

APANES, Usins sz 10 (et fiSS
A o A el Fuly 277
ulf{“ici._/ &UUHL 27 -« (State Code)
ey (L6321 Cat IS b A e A
2158 w25 —e Ut P Bk
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e b3 HSNUE )
G~ HSN-< t’nL‘/J@/Jlu:inleg.‘a bt AP S 252 § B (55 5 HSN:

Harmonized System of Nomenclature

r2ed

e

_C‘-’%qu_f'/djéTJf—d’/}’ﬂ}JL}”:ﬁ}ﬂj[:.6/L“:l;:«.:(tKdg)utuj’}]lgfg : /3?'2
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